NETTING:

_ pr L

0f = 57— Where t = thickness / 2
= —PL_ Wheret = thickness/ 2

0 = 35 ere t = thickness

Transverse Averages

~ 4 [ o,dx2
= 0% = T
Same for Strain

ISOTROPIC HOOKE’S LAW

v * (&, + ey)
A
v * (0, + ay)

E

&z

SPECIALLY ORTHOTROPIC LAMINA

g.
-3
Vi :
Vi _ Vit
E E
E;
Gpg = ——2——
27 2(1 4 vz3)
{e} = [S]{a}
=1 —lg - =L
Su=g Sn=gSu=73" Se=g;

{o} =I[Cl{e} [Cl=Qif2D

011 = Eq 01, = vi2E, 0
17 (1= vyvy) 127 (1= vyvy9) 22
GENERALLY ORTHO LAMIN A
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angle from principle
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Same for strains
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See Lecture 6 for Ex, Ey, Gxy, and Averages
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IMPROVED MICROMECHANICS

HOPKINS AND CHAMIS SEE LECTURE 9
SPENCER

ADAMS AND DONER

HALPIN TSAI (BEST)



FAILURE CRITERION
loy |l = S if oy is (<)
loy| =SS if oy is (=)
72| = Sir

leq] = ef_) if &is(-)
le,| = e§_) if e5is (=)
V12l = evr
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S if oy is (+)

S if o, is ()

eL(+) if & is(+)

e;ﬂ if &5is (+)



